
 

© 2016 Syslogic Datentechnik AG www.syslogic.com Page 1 of 1 
Version 1.0 | Jan 2017  All rights reserved 
Product specifications subject to change without notice. | All data is for information purposes only and not guaranteed for legal purposes. Information in this data sheet has been carefully checked and is believed to be accurate. However, no responsibility is assumed for inaccuracies. 
 

Push device in to fix it to the 
mounting rail 

Assembling Instruction Rear Mounting Kit 
IPC/MKITCP-2H 
Kit applicable for: COMPACT-8 “S & M -Family” rear mounting  
 COMPACT-8 “SL & ML -Family” rear mounting 
  
contains: 1x MEC/FG1334 aluminum plate 
 1x CPN/DINCLIP-52X39A DIN Rail Mounting Clip, 52x39 mm with 2x Torx M4x6 
 2x screws (M4 x 10, Phillips screwdriver size 1) 
  
 

1. Assemble the Rear Mounting Kit on the bottom of the device with the delivered screws M4x10 in the wanted Position (considering 
the usage of connectors on the back) 

 
 

 

 

 

 

 

 

 

 

 

 

2. Mount the device to the mounting rail pushing it “down” first then “in”. 
 

 

 

Rear Mounting Kit 

Fix screws M4x10 using PH2 screw 
driver (1.3Nm) 

Push device down first 


